OmniZurn Technical Note
Phone 541 332-7004 Fax 541 332-1018

Installing Door Interlock Kit on GT75
Overview:
Magnetic Reed switch goes in series with spindle fault line at TB1 between 26 and 27;
since about April 1998 there is jumper to remove because GTJr hatch is wired there.
Magnet on door holds switch closed while door is closed.
Key operated bypass is installed on spindle drive door and wired in parallel with reed
switch to allow qualified service personnel to operate machine with door open.

Parts list:

Reed Switch 1
Screw, 10-32 x 3/4 3 Key Switch with cable 1
Nut, 10-32 2 Liquid-tight feed-thru 1
Screw, 8-32 x 3/4 2 Standoff, #8 x 1/2 2
Screw, 8-32x 1 2 Standoff, #10 x 1/8 2
Nut, 8-32 4 Cable Tie, Screw Mount 3
Cable, 2 cond 22 ga 11 Cable Tie, small 6
Label, “Door Interlock” 1 Self-adhesive zip-tie mount 2
Label, “Interlock Override” 1 Cable Tie, medium 3

Rubber plug for feed thru 1

Procedure:

1. Drill two #15 holes and mount magnet on inside of upper right corner of lexan door
according to dimensions on "Mounting the Door Interlock Switch".

2. Replace two 10-32 x 3/8 button heads holding upper door track with 10-32 x 3/4.

3. Make small loop with two zip-ties cut excess and secure to 3/4" screws with nuts.

4.  Drill two #15 holes in front panel to mount door switch according to dimensions on
"Mounting the Door Interlock Switch". Use 8-32 x 1 screws and #8 stand-offs.

5. Route cable from door switch through cable ties into spindle compartment.

6. Use two more cable ties secured to bulkhead according to "Routing the Door
Interlock Cables".

7. Install Liquid-tight feed-thru in hopper to route cable through hopper.

8. C-Axis: Cut hole in rubber plug in spindle cabinet to route cable to TB1.
5hp: Punch 3/4" knock-out in side of cabinet and install rubber plug.

9.  Dirill 3/4" hole in spindle drive cabinet door to accommodate key switch.

10. Route cable with other wires along side of cabinet, down and over to TB1.

11. Remove jumper between TB1-26 and TB1-27.

12. Connect wires from each cable to TB1-26 and TB1-27

13. Install "Door Interlock” label on front panel to right of door opening.

14. Install “Interlock Override Switch” label on spindle cabinet above key-switch.

This completes the installation. Machine will not run unless door is closed. Machine will

stop if door is opened. To run machine with door open, key switch must be "on". Key
cannot be removed from switch in "on" position.

door interlock kit-2.wpd April 19, 2007



OmniZurn Technical Note
Phone 541 332-7004 Fax 541 332-1018

Door Interlock Wiring at TB1

L Door Interlock
Wiring at TB1

key-switch

sl | (grey & black)
W Wireto FLT-13
_ A (black)
' .\ S _. -

= Il. . :.’.._._‘. st . .' -
. ‘;-‘.‘. ; ‘. . —
Wires from A | A : '
door interlock i . ISR -
(grey & black) B\ BEWL R === Black wire to MB (Inverter)
{ | . 'ﬁ‘ "-

¥ or CN5-2 (C-Axis)

door interlock kit-2.wpd April 19, 2007



OmniZurn Technical Note
Phone 541 332-7004 Fax 541 332-1018

Door Interlock Label

(print and laminate for front panel)

DOOR INTERLOCK

Door Interlock at this door will put machine into Soft
E-Stop, same as Palm Box E-Stop.

If door is open before pressing Cycle Start,
program will not start: Main OmniTurn Menu will
appear. Secure door, select Automatic Mode
then press Cycle Start.

If door is opened while program is running,
all motion will stop and Main OmniTurn Menu
will appear. Secure door, select Jog Mode then
send slide Home (H,Z,X) before re-starting
Frogram. _

f door is opened during threading cycle, all
motion will stop as above, but CNC Control
must be shut off, then on to re-boot.

Service personnel: use keyswitch to bypass

\ )/

door interlock kit-2.wpd April 19, 2007



REMOVE 10-32 x 3/8 SCREWS 2 PLCS

REPLACE WITH 10-32 x 3/4

INSTALL CABLE TIE ON STANDOFF; SECURE WITH NUT

ROUTE CABLE THRU TIES

/ o o \ o o o)
_ MOUNT SWITCH
Q ! FARSIDE OF 3.25
° I R - FRONT PANEL.
1 (NOTE ARROW)
N B
in
1 2.125
r] ol
DRILL #15 - USE 8-32 x 1 HDWR
MOUNT SWITCH ON STANDOFFS
1.125——= °

DRILL AND TAP SLIDING DOOR IN PLACE.
MEASURE DOWN FROM TOP EDGE OF FRO

NT PANEL.

o.25oa“e

MOUNT MAGNET
FAR SIDE OF
SLIDING DOOR ———=

(NOTE ARROW)

DRILL #15 4/

USE 8-32 x 3/4 HDWR

GT75 SLIDING DOOR

DOOR OPEN [

3.25

2.125

GT75 FRONT PANEL

DOOR CLOSED

MOUNTING THE DOOR INTERLOCK SWITCH

OmniTurn GT-75

door_interlock_panel.dcd



O OO
() o
O OO0
REMOVE 10,32 % 3/8 SCREWS REMOVE 10-32 x 3/8 SCREWS e °
INSTALL CABLE TIE: SECURE WITH NUT m‘gﬁkﬁng\’B"EHﬂE@gg&g’é WITH NUT o
ROUTE CABLE THRU TIES ;
7 ROUTE CABLE THRU TIES
¥ /\ o ° :
¥ ¥ F =\ o
=
=
DOOR SWITCH —— ]
lo ° ° o o
e o
(=4
° °
° -] ] o
\ /
I Q O o] o] o] I
(<] o (<] o (<] [} (<]
N +]
ROUTE THROUGH PLASTIC PLUG
\ /
~— \
\/_ T I
KEYED BYPASS
| | .
7 N = ]
0]
O (e}
(-]
! N 1=
SPINDLE CAB DOOR (OPEN) N ROUTE THRU RUBBER PLUG
[E=H =N
REMOVE JUMPER TB1-26/TB1-27

CONNECT CABLES BETWEEN TB1-26/TB1-27

ROUTING THE DOOR INTERLOCK CABLES dorinlk dod




NOTE: All relay coils have diodes:

NOTE: This drawing includes optional components
and references not on all panels.

13 14 Op Plug Misc Plug TB1
A | '
¥ I I
I i> BLK
| 11 1
l >10> RED indle Anal Invert
| Spindle 2 Spindle Analog to Inverter
| OFF/AUTO =
BRN
Palm Box l 12vbe
E-Stop I l RED Swi
W\ 3 witched 12VDC
=/ Spindle ON/OFF on Control
Y5 )}—YEL 1
28) 71 4 0
12V COM
Sp.Pres | ¥4 IR
=113 o3 )14
M03 > 6 50 5
7 13 (Foa) 14
> 6>
MO04 GRN 7 @
+ 20
CC Lube 5 L=
D5
21
I 121 |
T T T T T T T T T T ~ 6 6 | M04
MOVE CC Lube COM FROM TB1-21 TO TB1-22 -
TO PROVIDE CONSTANT LUBE TO COL CLSR Mo03 |10 10
WHEN CYCLE TIME IS TEN SEC OR LESS.
USE SP OFF/AUTO SW ON CNC TO STOP AIR FLOW. 19
+V6 8
NSK Air +V7 DOOR INTERLOCK
Slide Brake 1 .y
4 /7 \13 [
Ctrl Rdy (+12V) > 9) { 9 | FLT 26 27
YEL \_/ o [
PLC 12VDC INVELT
} BLU
r A 9 | .
Part Catch 3 KEY SW: BYPASS
1 14 (SPINDLE DRV DOOR)
M25 > 1) K
MO8 SE>—— 13 (M10s 14 If no wires at 26 & 27,
RED remove wire between
M3 >3

Unclamp +12

FLT-13 and INV.FLT (MB

on inverter). Bring each
X2 (BLK)

Clamp |_1/1‘+

X “1/ ¢ory [Of these points to TB1-26
o2 | O owcan|& 27, then connect mag

M2 D7) v

x1 (Rep ofSwitch and key switch

Clamp I =, BRN
7 . .
17)
SZ D6 (PLC | per Instructions.
Unclamp T e BLU
16
MO3  Mo4
T\ VIO CH )4 CH )4
210) AT AT
Palm Box ZL 32) WHT
E-Stop 1=/
| D3
D4
Dual PNK z|s
Paim FEEDHOLD »13>
Buttons :E - ORG
: =) BRN
' INHIBIT ’—/I_I
T L T GRN 28)
—t 14 ) 24
i VIO
L CYCLE START >14
BLK
PLC X0 (RST) J_SF'-T .
N
BLK =~
PLC OV 0]
+— BLK — 12V COM
) 1) 19
12V COM

WHT
ac_sch1b.dc2 6/2006

DOOR INTERLOCK ALL GTs

OmnilTurn
AC SPINDLE CONTROL LOGIC



steve
Oval

steve
Text Box
If no wires at 26 & 27, remove wire  between FLT-13 and INV.FLT (MB on inverter). Bring each of these points to TB1-26 & 27, then connect mag switch and key switch per instructions.


NOTE: This drawing includes optional components
and references not on all panels.

1l
10 6
X M
9 I I 5
2A M08 CgSkA/?DNT
10A
FT1 FT3
220VAC 110VAC ( |.| ) ( |.|
— (] T
5A  STEP DOWN e — —
(MOUNTED -
FOR SINGLE PHASE ONXFMR) WORKEXJ;EATS; 8SNTROL
CONNECT LINE TO
L1 AND L2.
220VAC SW1
RED
LINE i pie L1 T1
RED
~Eqp L2 T2 MOToR
L3 6 BLK
L3 T3
25A
Misc
Plug B YASKAWA GPD315 o3
. 5HP
gf’i)ls/ To>_RED Pay FR ( ) 31 RED SH 12 ORG
|
BLK M04
coM 11y HEC | 52 YEL 8,12 ORG
11
INTERLOCK
& KEY SWITCH
OVER RIDE
Ctrl Rdy » YEL n . 'MB
(*12v) s4 vio 23l 24 BLU
BLK/ Spindle Reset
PalmBox i ) L Opens
Connector SZ D6 (PLC isora = Fonlt
PalmBox . au
E-Stop ' Closes sC BLU
NN
WHT i n FZ:” BRN ORG
12V COM >2) 19 MC
If no wires at 26 & 27,
Parameters w/5hp WEG GT75 & GTJr |remove wire between
FLT-13 and MB on
Accel = No 19: Set to 2.0 for Attachments. . B1
with Vari-Speed pulleys inverter. Bring each of DBR
Decel =V'\>:t°h%/Oéris_gt)ge%-gjﬁ;gt%hmemfthese points to TB1-26 &
= | AN 27, then connect mag B2
o re-initialize: set No o : :
After initialization set as follows: SW't_Ch and _key switch
002 =1 019 = 1.0 [2.0] per instructions. T DBR = 30 OHMS 500W
882 = ; 8%8 = ;1209[2.0] [DBR = 30 OHMS 250W]
007 = 1 058 =3
011 = 135 [120] 106 = 1.7
012 = 230 109 = 250
110 = 23 .
After setting, set No 1 to 3 OmIll Tuf'l”l jun2007

AC SPINDLE DRIVE (GPD 315 5HP)

gpd5_sc.dcd



steve
Oval

steve
Text Box
If no wires at 26 & 27, remove wire  between FLT-13 and MB on inverter. Bring each of these points to TB1-26 & 27, then connect mag switch and key switch per instructions.


NOTE: All relay coils have diodes:

NOTE: This drawing includes optional components

& KEYED BYPASS

13 14 Op Plug TB1 and references not on all panels.
Bl
Spindle
OFF/AUTO
Palm Box 12vbe
E-Stop T~ S} RED Switched 12VDC
= Spindle ON/OFF on Control
38) YEL
PAY) /I_I
+
12V COM
Sp.Pres Ly /| 8 I
=1 13/ 14
26 > SPEN
SPEN BLU 5 v 1
+ 20
CC Lube 5 | Z%
D5
511 6 SPEN
' 121 | il
[ _ 10
~
MOVE CC Lube COM FROM TB1-21 TO TB1-22 ‘| 22
TO PROVIDE CONSTANT LUBE TO COL CLSR
WHEN CYCLE TIME IS TEN SEC OR LESS.
USE SP OFF/AUTO SW ON CNC TO STOP AIR FLOW.
.
+V6 8
NSK Air | +¥77 ’ DOOR INTERLOCK
Slide Brake

14 13
Ctrl Rdy (+12V) » 9> VEL { 9 | @
PLC 12VDC 5LU
+ \1—9—|
Part Catch 3 —
M25 D1 5K I 13 (M5
— 13 14 1
M08 5 10 Mo8 SP.
25 Grn — N FLT
lIl [CNa-3] CN5-1
RED 1
M13 3 12 _|1eNea
S 7] - e
Uncl +V2 [N
nclamp 3 | (= 1 SRVO.FLT
L2 ] 1 | OPENS ON FLT
(I
+ 'T' 1CN-32
Clamp 1 — £S b2
M2 D7) oRY N 15 \CD/ SP.FLT
Clamp T —\ BRN — \(Drv Cab)
17) 116 |
Unclamp 7T BLU =
Y6 ) 17 SZ D6 (PLC ISOLATION)
SPEN
Y1010 18 i
219/ 118 | AT
Palm Box —L ¥2) WHT 231
E-Stop 12/ L <97
- b3
D4
Dual PNK =n ] Z|S
Palm FEEDHOLD »13> 30
Buttons :|: ORG
: 15) 25 FLT
i INHIBIT S8 >—2nN 3
L L Y2\ CRN ES
- ) 4 ) 24 1
L VIO
CYCLE START >14>
Y7} BLK ETR 12V COM
y
12V COM Z}—/I_‘

WHT

acs_sch1.dcd 5/2008
ADDED KEYED BYPASS

OmnilTurn
YASKAWA SERVO SPINDLE CONTROL LOGIC




0,6 (™
I
9,,5
| | COOLANT
10 PUMP
10A
FT3
5A  STEP DOWN — —
XFMR - N
(MOUNTED OUTLETS FOR
ON XFMR) WORKLAMP AND CONTROL
SWA1 L1C
SP.CAB
25A
e | w || YASKAWA e
! © o u SGDH-50
L2 AN4 WHT
! © L2
LS/J\S BLK EXTERNAL REGEN
L3 B1 —— 8.5 OHMS
220VAC 250W
LINE E
B2 ———
—— SRVO.FLT MOTOR/TACH
DC COM © 1CN-32 Opens E
(TB1-22) L o
12vDC -2 T o U
(FLT-14) |_1CNﬂ| y  LwHT M
Spec CN4-1 CN4-3 W B T
Plug
Pos.Sig BLK a) '@'
PWM )6 ) l CN3-2 CN2-2 1CN-5
com Y WHT . N34 CSPWM2 CCA
SPFLT  CN2-1 1CN-6
——
TB1 CN5-1 CN5-2
DC COM [ 22
Misc N
Plug TB1 ° ° TB1
Ctrl Rdy YEL —— 14 13
i S 9 FLT
N =
} DS:)FcLaTb) DOOR INTERLOCK TB1
Palm /TN & KEYED BYPASS Spindle R
-_ indle Reset
Box 7 D6 (PLC isolation) 1CN-33) A POSITIONING P i
BRN BLU 23l 24
pee-stop (2 {23 —4 [2—11CN-35| B ENCODER >
Closes ouT (TB1-28)
RIS o0 [ —1cN-19] 2
DC COM DG COM ——1CN-1 VIO DC COM
Misc (SPEN-1) - (FLT-1
Plug

OmniTurn
ADDED HEYED BYPAGS YASKAWA SERVO SPINDLE DRIVE






